SMA
PAGE 2

SMA
PAGE 2

SMA
PAGE 2

SMA
PAGE 2

PAGE 2

XTF
PAGE 2

PAGE 2

XTF
PAGE 2

333

MAIN PWR
ADS* PWR
PAGES 9 & 10

-

uUSB

ADC/LMK GUI

PAGE

7

SPI

JESD204B DATA )

FMC
op |CONNECTOR
SYNCB PAGE 6
j ADS5xJ64 sp1 CPLD
PAGE 3 PAGE 8
CLK SYSrEf SPI
A4
LMK04828
PAGE 4
LMK* PWR
PAGE 5

%i# TEXAS INSTRUMENTS

[Title:

BLOCK DIAGRAM

Engineer: ) CARNES 02/2016

PCB: L NGUYEN 02/2016

ize D Number rev

;| ADS58J64EVM A

ate: Wednesday, March 02, 2016 heet 1 of 10
I 1

@

2




R6
123 - 5> AINM SH3
2.99
1 [5gA] 1 AN+ 4 T1 AAINP 3 T2 6 €140 || 1uF R63
AN S § % § % 1l 249
« 5 2 2 5 R
= § g § g ¢z Saor
6 3 AAINM 1 4 C141 ;| .1uF _I_—| -3p
WBCL-1TL ca WBCL-1TL ' -1uF
L R3
AuF N R101
ov 249
R2
121 5> AINP SH3
2.99
R141
LA 5> BINP SH3
4.99
6 7
17SEA 1 BIN BBINP 3 6 C275 || AuF R145
BIN[gy| é % ! 24.9
- z : : e
= % g c201 c276
3 BBINM 1 4 Cc274 || AuF — 3.3pF
WBC1-1TL cor7 c200 WBCL-ITL Y = -lF
AuF 1uF R144 R146
16V 16V 24.9 24.9
R142
LEAS 5> BINM SH3
4.99
R153
193 5> CINM SH3
| 499
18[5TA] 1 ciN 4 8 1 CcCiNM 3 T 6 €202 y| .1uF R157
oiN ey % § % g " 249
© 5 2 2 5 R156
L 249
= c207
6 3 ccinp 1 4 C203 ;| AuF 3.3pF
WBCL-1TL WBCL-ATL "
c204 c205 R R1s8
T WF ' 249
16v
R154
191 5> CINP SH3
499
R12
143 : 5> DINP SH3
499
35 [SgA 1 DN 4 s DDINM 3 T4 6 C157 || 1uF R107
DN |8 é g é g 1l 249
- 5 2 2 5 L
6 3 DDINP 1 4 C158 4y .1uF 3.3pF
}
WBCLTL WBCL-1TL L VR
1 c1o 1 cu 249 R119
1uF 1uF 249
16v 16v
R8
T4l G > DINM SH3
499

e
%i# TEXAS INSTRUMENTS
- diuu i Luuevasve Das ey s vt
ANALOG IN
ize Document Number ev
B ADS58J64EVM rA
Date: Wednesday, March 02, 2016 hfet 2 of 10




DNI = DO NOT INSTALL o
AVDD1.15V
Ris AVDD1.9V
K u1 ADS5X6X
Swi1 9 0
AVDD AVDD19V
ADC_RESET 21 AvOD AVDDI9V (20
1 == 5 RESET 5| avoD AVDD19V [-57
5o AVDD AVDDI9V 35—
75 | AVDD AVDD19V T‘
R36 52 AvDD AVDD19V DRVDD1.15V
10K —55 AVDD s
——2- AVDD DVDD
AVDD1.9V
1 +—351 VDD ovoD [ 10VDD1.15V
AVDD1.9V = 73 AVDD y
Za| AvDD 10VDD |27
R23 ¢ AVDD 10VDD (27
i AVDD 10VDD |25
R10 10VDD
0 SCANEN SH8 ADC_SCLK (K- 6| reser tovop |2
| 2 SCLK
DNI WH SHB ADC_SEN(- SEN u
SH8 ADC_SDIO < SCAN EN 75| SDIN SDOUT > ADC_SDO SH8
SCAN_EN
AVDDLOV oo PDN 500 BoN €27 4 AuF >> DAP SHG
e c28 | 1uF
R20 1 SH2 Aleg 42y na_p Dap |33 DAP WE % pAM sHe
RaC SH2 AINM INA_M DAM
C29 | 1uF
{ e S e P PTG
= 1 SH2 BINM INB_M DBM €30 4 AP > pBM SHE
123 SH2 CINP 24 inc_p ocp (BB
SH2 CINM INC_M DCM c31 Ak
TRIGAB | @ |- TRIGAB 13 - 59 0D b 3> DCP SH6
2 SH2 DINP IND_P DDP €32 41 IuF 3> DCM SH6
° e 147 IND_ 68 DD _M 1
IND_M DDM
L e 53| 54 €33 41 IuF > DDP SH6
= - 2| TRIGAB TRDYAB [T C34 )\ AuF J21
TRIGCD TRDYCD { = >> DDM SH6 TRDYAB 1
14 u | 3 @ | TROVAB
= °
1 TRIGCD R34 & R133 place next to Ul CLKIN_P
TRIGCD | § [2 Place resistor on trace. CLKIN_M L
stu -
R173 SYSREF_P  SYNCbABP [—22——>> SYNCbABP SH6 TROYCD 1 [
= 499 SHa SYSREFP ) R30 0 SYSREF+ svsReF M o lss S5 SYNCHABM SHS 2] o | TRoYCD
SH4 SYSREFM D RSL 0 SYSREF- —2 aanp AVDD1.9V
= C190 AuF )
SH6 FMC_SYSREF_P <{- | DNI“ % AGND SYNCbCDP |22
cio1 1uF AGND 7L R183
SH6 FMC_SYSREF_N e o SYNCbhCDM s
R30 SHARES A PAD WITH C190 % NC2
R31 SHARES A PAD WITH C191 =1 deno
SH6 FMC_CLK_P ((—C192 1 __LuF 4 a5 | DGND 7
BNI 3| DGND PAD rigs OV o
SH6 FMC_CLK N ((—C193 |} _ .IuF 67 | DOND R182 > SYNCbCDP SH6
g BN DGND 100 R185 0
FMC_CLK* & FMC_SYSREF* DIFF PAIRS Bl >> SYNCbCDM SH6
MUST BE MATCHED LENGTH DNI
TO EACH OTHER. ACLK P car
R35 9 | ——<KcLkP sH4 1
EXT_ADC_CLK 5 DNI F R184
6 [SEA] 1 ADC_CLK C43 || .0luF__ADCCLK 6P S 4 ACLKP R35, C47 AND C192 SHARE A PAD. ) 300
N Al o o
L]
2 i 5 -
i J_czgo
1uF
16V
TCM2-33X+ = R39, C48 AND C193 SHARE A PAD. ca8
= 30MHz to 3GHz R39 0 ACLKN | ——X CLKM SHa
DNI
1uF
T - 1 % TEXAS INSTRUMENTS
2 J_cza J_czs J_cze J_c1eo J_c J_ J_ J_ J_ J_ J_ J_ J_czgz J_c291 J_c171 J_cuz J_cas J_cae J_c37 J_cas J_csg J_cao J_c41 J_czo J_cz1 _
J‘.luF Gt L LG LGP L7 Gr L5 GE L5 LR L%E LGP B e I T T S I = T I I T ADC
T1ev Tlev va va TIEV T1ev Tlev -|—16V T1ev Tlev T16V Tlev T16V va va va va Tle" va TlGV va va va va TlGV T1ev
ize Document Number ev
L L - —L: B ADS58J64EVM A
PDate: Wednesday, March 02, 2016 heet 3 of 10
5 | 4 | 3 | 2 1




_LCGO

_LCGS

—= LEDGREEN
= PLL2LOCKED

CP2
c66 .1uF .68uF
c69 3900pF
47pF =
R66
= R6S 39K
620
us
LMK04828 JESD_CLKP C67 I LF %% FPGA_JESD_CLKM SH6
| 10 32
SH5 VCC1_VCC5_VCC6 VCC1_VCO CPOUT1 [ JESD_CLKM C68 1uF FPGA_JESD_CLKP SH6
SH5 VCC2_CG1 S veczTeer cpout (48 P FPGA_JESD
SH5 VCC3_SYSREF S: 55| VCC3_SYSREF 4
SH5 VCC4_CG2 33 V(C:g4_CGG2 8§ggUTp ﬁ FPGA* DIFF PAIRS MUST BE
=g | V! DI UT!
361 Vecepiie "I MATCHED LENGTH TO EACH OTHER.
SH5 VCC7_0SCOUT 45| VCC7_0SCout DCLKOUTOp [
SH5 VCCB_OSCIN 75| VCCB_OSCin DCLKOUTON
SH5 VCC9_CP2 VCC9_CP2
SH5 VCC8_VCC10 g VCC10_PLL2 SDCLKOUT1p i JESD SYSREFP R109 0 ) FPGA_JESD_SYSREFM SH6
SH5 VCC11_CG3 VCC11_CG3 SDCLKOUT1n VSREFM
SH5 VCC12_CGO 64 1 \/Cc12-Cao 15 JESD_S Lo 05> FPGA_JESD_SYSREFP SHG
18| DCLKOUT2p |75
SH8 LMK_CS ))———————{C§ DCLKOUT2n
%: CLKINOp SDCLKOUT3p |5
3.3VCLK 12 C122 & R100 PLACE CLOSE TO LMK CLKINOn SDCLKOUT3n
+
- 1 CLKIN __R62 0 CLKIN _c122 | AuF CLKIN1P 34
e ) cuermcgente cenel$ e
o R60 DNI 1T " n/FINn n - >>CLKM SH3
0 R100 cr9 OSCIN_P 43
PLACE C120 CLOSE TO Y1 P2 +3.3VCLK R104 OSCINp SDCLKOUTSp :g CLK N cr1 1uF CLKP SH3
CE C120 CLOSETO XO_PWR DNI 49.9 49.9 LuF OSCIN.N 443 osCinn SDCLKOUTSN 2
CPL SHUNT 1-2 _| DNl —— -
= B DCLKOUT6p [ R21 R40
78 = = 58 | 0\ in_ sELO DerkoUTeh (28 540 240 CLK* & SYSREF* DIFF PAIRS MUST BE
FB12 R61 59
120 OHM @ 100MH 130 CLKin_SEL1 29 MATCHED LENGTH TO EACH OTHER.
2 0 SDCLKOUTp |5
DNI DNI P30
R88 c169 SDCLKOUT7n [ ==
| co2 || .aur L1 sTATUS_LD1 SYSREF P
T _|
Y1 100 AuF ,\II 1 cin 48 | STATUS LD2 DCLKOUTSp :g; £ — >> SYSREFM  SH3
Ve VDD -2 R87 R102 1uF DCLKOUTSN SYSREF N c72 1up S SYSREFP SH3
49.9
NG out p |8 DNI = SH8 LMK_SDO >>—g RESET SDCLKOUT9p :g
- S SYNC SDCLKOUT9n R43 Ra4 105 106
4 — — SH8 LMK_SCK ))—55¥ SCK
GND  OUTN = = €92 & C121 SHARED PAD imc spid” 291 spio DCLKOUT10p :%‘ 240 240 240 240
— i — +3.3YCLK €92, C121°& R102 PLACE CLOSE TO LMK T DELKOUTIO NI ONI
15 | LDObypl
co0 o LDObyp2 SDCLKOUT11p ;(g = — ==
—20 4 AuF o R73 65 SDCLKOUT11n - -
DAP
c81 100pF c87 cs8 62 CLKLA 0P s c86
¢-CBL | | L00F = 0 €82 & R77 PLACE CLOSE TO LMK TuF ——ur DCLKOUT12p =5 D>CLKLAC_OM SHo
L csa 2200pF R71 X ce2 || auF 0% 16V beLkouT1Zn CLKLA ON C89 %\ CLK_LAO_OP SH6
T I I - § - L
Mg — = == SDCLKOUT13p
10pF 1 1UF = = =
c85 Opl . 00 u . = = - SDCLKOUT13n R79 CLK_LAO* DIFF PAIRS MUST BE
= 2 49.9 g:‘? gﬁ? MATCHED LENGTH TO THE FPGA PAIRS.
DNI
D4 XX R81 EMK_SYNG 1 TMi_svne
= = ¢ Y5y DNI +3.3VCLK = =
LED GREEN ~
CLKIN 0 SEL ==
R82 R59 -
4 D5 X 49.9
7oy R134
LED GREEN 10K
CLKIN 1 SEL L
JETNN ‘ R85 <LMK_SDIO SH8
750
LED GREEN
PLL1 LOCKED i
| oo xug R [EXAS INSTRUMENTS
750

CLOCK

Document Number

ADS58J64EVM i

Wednesday, March 02, 2016

heet 4 of 10
1




FB1
— K VCC1_VCC5_VCC6 SH4
120 OHM @ 100MHz D
c50 [+ c51 c52
1uF 10uF 01uF
vces_vee1o sHa
PLACE FB*S NEXT TO U5
FB2 = FBs
— o v {VCC7_0SCOUT SH4
120 OHM @ 100MHz 120 OHM @ 100MHz
c57 _|+ cs8 C59 FB4
1uF 10uF 01uF — +—e——KVCCY CP2 SH4
120 OHM @ 100MHz
FB11 B
+——— VCC8_OSCIN  SH4
120 OHM @ 100MHz
= L cie4
1uF
FBS
~ {vcec2_cG1 SH4
120 OHM @ 100MHz
- { VCC3_SYSREF SH4 ¢
120 OHM @ 100MHz
v {vcca_CcG2 sH4
120 OHM @ 100MHz
FB8
~ {VCC11_CG3 SH4
120 OHM @ 100MHz
FB9
% {VCC12_CGO SH4
120 OHM @ 100MHZJ- ]
C56 cé1 c62 c63 ce4
1 1 1 1 1 c100_L c1o1l c102_l c173_L c174
TOIUFTOIUFTOIUFToluF OLuF .I_lup _I_lup _I_lup TMF Tlup
L

-

%i# TEXAS INSTRUMENTS

itle
LMK POWER
ize Document Number ev
B | ADS58J64EVM rA
| | | Date: Wlednesday March 02, 2016 heet 5 of 10
5 2 3 2 1




A c1
AL c1
SH3 DCP ﬁ A2 c2 —gg E; E1l G1 g% j a1 K1 [ %
SH3 DCM A3 C3 [ $1E2 G2 ¢ — 32 K2
A c4 E3 G3 J 3
A5 | Ad C4 [ Ea|E3 G3 Gy 34 93 K3 7
D A6 | A5 C5 & —&5 | E4 G4 G5 B4 K4 s D
SH3 DBP A7 | A6 C6 [ ¢ DDP SH3 —Ee | E5 G5 [Gg—1 6 95 K5 6
SH3 DBM 28| A7 C7 & DDM SH3 E7] E6 G6 T—gg CLK_LAO_OP SH4 37 96 K6 (7
A9 | A8 C8 ¢ Eg | E7 G7 &g CLK_LAOC_OM SH4 387197 K7 kg
A10| A9 C9 10 g9 | E8 G8 5o Jo| 98 K8 g
SH3 DAP AL1 | AL0 C10 [¢11 E10 | E9 G9 G151 FPGA_JESD_SYSREFP SH4 1101 %9 K9 k1o
SH3 DAM ALl C11 ¢ —{ E10 G10 FPGA_JESD_SYSREFM SH4 — J10 K10 [
A C12 El G J1 11
ALz | Al2 C12 [¢& Eip | E11 G11 & 5] 1L K11 (15
ATa| A13 C13 &7 E15] E12 G12 |3 SYNCbABP SH3 15 912 K12 |15
A1 AL4 c1a |-¢ g FMC_SCLK SH8 E14 E13 G13 |3 SYNCbABM SH3 J147] 913 K13 14
Al6 | AlS C15 [—& FMC_SDIO SH8 Eis | E14 G14 |3 Ji5] J14 K14 (15
AL7 | A6 C16 [& E16| E15 G15 (& g FMC_SEN_LMK SH8 J1671 918 K15 75
AL7 c17 R91 n = E16 G16 FMC_D5 SH8 — J16 K16 [ B
Al C D1 El J1 17
5 A8 c18 E17 G17 17 K17 [
A19 | I C 750 E18_| | G18 J18_| 18
A20 | AL9 €19 "cao LED GREEN 19 | E18 G18 I"G19 J19 | 918 K18 "k1g
A21 | A20 €20 "Ca1 JESD_SYNC = £20 | E19 619 7620 320~ 19 K19 ka0
A21 c21 - B ——F51 | E20 G20 G54 3511 J20 K20 [
A2 C22 E21 G2L J21 21
= A22 c22 ¢ 51 E21 G21 [ 5 321 K21
A2 c23 E22 G22 322 22
noa | A23 C23 [~y Eo3 | E22 G22 |53 o3 J22 K22 (53
Ao5 | A24 C24 ~&55 —E24 | E23 G23 G55 Joa] 923 K23 50
—asa | A25 C25 &5 = E24 G24 [ = 324 K24
A26 C26 E25 G25 325 25
Ay A26 C26 (o7 Eo5 | E25 G25 |5 o5 925 K25 (56
A28 | A27 C27 [~Go8 I~ E27 | E26 G26 G527 327 | 926 K26 o7
—Azg | A28 C28 G0 1 E28 ] E27 G27 o8 28] 927 K27 58—
—a30 | A29 C29 G50 5 E28 G28 51928 K28 [ FMC_CLK_P SH3 c
A30 C30 E29 G29 329 29 FMC OLK N SH3
1| A30 €30 [¢ E29 G29 329 K29 _CLK_
A3L C31 E30 G30 J30 30
5| A3L C31 ¢ 7 E30 G30 [ 71 330 K30 (31—
A32 C32 E31 G31 J31 31
—A33 | A32 C32 =833 E35 | E31 G31 235 J35] 931 K31 35
R34 | A33 C33 [—&37 —E33 | E32 G32 G35 733 | 332 K32 a3 FMC_CLK* & FMC_SYSREF* DIFF PAIRS
A35 | A34 C34 ¢35 E34 | E33 G33 ["G3y 334 933 K33 M3 MUST BE MATCHED LENGTH
A36 | A35 C35 &3 E35| E34 G34 235 Ja5] 334 K34 (35 TO EACH OTHER.
—a37 | A36 C36 37 1 —E36 | E35 G35 G535 336 | I35 K35 [y 36
—A38 | A37 C37 [~¢3g E37 | E36 G36 537 37| 936 K36 37
A39 | A38 C38 G391 E3g | E37 G37 538 338 937 K37 [—¢3g —g FMC_SYSREF_P  SH3
51 A39 €39 [¢ —E39 | E38 G38 G391 339 J38 K38 [ FMC_SYSREF_N SH3
A40 C40 E39 G39 J39 39
A40 c40 E40| E39 G39 240 Ja0 339 K39 70— e
E40 G40 340 K40 [—
Bl D1
B2 | B1 D155 F H1
—p5 B2 D2 5 F1 H1 [ _ _
B3 D3 F H2 R84 0 = =
54 B3 D3 52 £5 F2 H2 [543
g5 B4 D4 55 g FPGA_JESD_CLKP SH4 F4 | F3 H3 [z DNI CON, SMVT, FIELD ARRAY, 400POS, MALE
86| BS D5 |56 FPGA_JESD_CLKM SH4 F5| F4 H4 s
g7 B6 D6 (57 5 F5 H5 [he
——sa | B7 D7 ——{ F6 H6
B8 D8 H7
51 B8 D8 [ g1 F7 H7 [
B9 D9 F8 H8
B9 D9 | 5| F8 H8 |
B10 D10 F9 HY
B10 D10 F9 Ho
B1 D11 F10 H10
B1s ] B11 D11 g1 F11] F10 H10 77
— B12 D12 5| F11 H11 [ 8
B1! D13 F1. H12
B147] B13 D13 [pia Fi3 ] F12 H12 575
515 ] B14 D14 [pis FMC_SDO SH8 F14 | F13 H13 12
B15 D15 = FMC_SEN_ADC SH8 — F14 H14 =
B1 D F15 H15
817 B16 D16 [y Fi6 | F15 H15 76
B1g | B17 D17 Big F17| F16 H16 (77 FMC_D6 SH8
B18 D18 | — F17 H17 FMC_DIR_CONTROL SH8
B1! D19 F18 H18
B19 D19 F18 H18
B2! D20 F19 9
B20 D20 | 5 F19 H19
B21 D21 F20 H20
825 B21 D21 g5 F21] F20 H20 59
B3 | B22 D22 D23 F2 F21 H21 H22
824 | B23 D23 [Fpou Fo5] F22 H22 (05 H
825 B24 D24 [Fpog F24 | F23 H23 [iou
B2 | B25 D25 5551 Fo5 | F24 H24 (5
857 | B26 D26 [po7 F26] F25 H25 56
I~ B2s | B2/ D27 58 F27 | F26 H26 57
B29 | B28 D28 [pog —F28 | F27 H27 MR
B30 | B29 D29 1730 F2g | F28 H28 I"Hog
[ Ba1 | B30 D30 "h3y F30 | F29 H29 30
[~ B3z | B3 D31 "3y [~ Fa1 | F30 H30 737
B33 | B32 D32 [~Ra3 F35 | F3L H31 37 éSYNCbCDP SH3
B34 | B33 D33 "h3g F33 | F32 H32 Mh3s SYNCOCDM  SH3
B35 | B34 D34 [p3s5 Fa4 | F33 H33 37
—h3a | B35 D35 | = F34 H34 |
B36 D36 F35 H35 . A
837 | B36 D36 "3y F36 | F35 H35 "H3e
5 B37 D37 535 —F37 | F36 H36 57— ’
B38 D38 F37 H37
[ B39 | B38 D38 Mb3g Fag | F37 7 Mhizs
—Bao | B39 D39 75201 F3g | F38 H38 =139
— B40 D40 [— —Fa0 | F39 H39 75 e
= _ g il iy OUTPUT - FMC ONNECTOR
) ) ize Document Number ev
CON, SMVT, FIELD ARRAY, 400POS, MALE B ADS58J64EVM A
CON, SMVT, FIELD ARRAY, 400POS, MALE
PDate: Wednesday, March 02, 2016 heet 6 of 10
5 | 4 | 3 | 2 1




FB10

1K OHM @ 100MHz ‘1

C163 c91

4.7uF

1ov 1uF

13 ~ w7

USB I/F ADC/LMK = = 20 1

— vce Do —— <K FTDI_SCLK SH8

VBUS |

g GND1 D- 16 | ,seDM D1 5—(( FTDI_SDIO SH8

GND2 D+ 15 3

8lcnps D l L1351 yseop D2 K FTDI_SDO SH8

GND4 GND J— 46793F = 40795: 4 11 < ¢

= R13 ap 4 vceio D3 =<K FTDI_SEN_ADC SH8

= 0 _I_cgg 8, 2

CONN, USB MINI AB, SMT — — I TuF NC1 D4 =———— <K FTDI_SEN_LMK SH8

— — 193 RESET D5 < FTDI D5 SH8

25 ne2 D6 10—(( FTDI_D6 SHS

2Ly oscl D7 6—(( FTDI_DIR_CONTROL SH8

Blosco rxr[F

17 1

avaout  Txe 2

23 AGND RD [

GND
181 Gnp wr ¥
2L GND
2 fresT pwren [
= FT245RL

% TEXAS INSTRUMENTS

itle

uss

ize Document Number ev
B ADS58J64EVM A
Date: Wednesday, March 02, 2016 heet 7 of 10
5 | 4 | 3 | 2 | 1




SH6 FMC_SCLK

U3-2

SH6 FMC_SDIO

10_1_2/DIFFIO_L1P

SH6 FMC_SDO

10_1_3/DIFFIO_LIN

10_1_4/DIFFIO_L2P

SH6 FMC_SEN_ADC

10_1_5/DIFFIO_L2N

SH6 FMC_SEN_LMK
SH6 FMC_D5

eSS

10_1_6/DIFFIO_L3P

SH6 FMC_D6

10_1_7/DIFFIO_L3N

SH6 FMC_DIR_CONTROL

10_1.8

10_1_15

—1>| I0_1_16/DIFFIO_L4P
1§ | |0_1_17/DIFFIO_L4N
19| 10_1_18/DIFFIO_L5P

—30| 10_1_19/DIFFIO_L5N
21 |
26 |

10_1_20/DIFFIO_L6P
10_1_21/DIFFIO_L6N

5| 10_1_26/DIFFIO_B1P
—5g | 10_1_27/DIFFIO_BIN

59| 10_1_28/DIFFIO_B2P
50| |0_1_29/DIFFIO_B2N
55| 10_1_30/DIFFIO_B3P

34 | 10_1_33/DIFFIO_B3N

35| |0_1_34/DIFFIO_B4P

36| |0_1_35/DIFFIO_B4N

SPI —
J25 —5
HMTSW-104-07-G-S-.240 —
0000
T
SH3 ADC_SCLK J
SH3 ADC_SEN
SH3 ADC_SDIO
SH3 ADC_SDO
VCPLD1.8V P3
SPI_SELECTOR
FMC 1 50
2

57| |0_1_36/DIFFIO_BS5P
56| 10_1_37/DIFFIO_B5N
39 10_1_38
0| 10_1_39/DIFFIO_B6P
21| 10_1_40/DIFFIO_B6N
22| 10_1_41/DIFFIO_B7P
25| 10_1_42/DIFFIO_B7N
28| 10_1_47/DIFFIO_BOP
29| 10_1_48/DIFFIO_BON
10_1_49
21| |0_1_50/DIFFIO_B10P

SH7 FTDI_DIR_CONTROL
SH7 FTDI_D6

SH7 FTDI_D5

SH7 FTDI_SEN_LMK
SH7 FTDI_SEN_ADC
SH7 FTDI_SDO

SH7 FTDI_SDIO

SH7 FTDI_SCLK

SH4 LMK_SCK

DNI SH4 LMK_Cs

SH4 LMK_SDIO §
R113 0

10_1_51/DIFFIO_B10N

5M80ZT100

U3-3

25 10_2_52
24| 10_2_53/DIFFIO_R7N
_54/DIFFIO_R7P
_55/DIFFIO_R6N
27| 10_2_56/DIFFIO_R6P
25| 10_2_57/DIFFIO_R5N
81| 10_2_58/DIFFIO_RSP
61
_66/DIFFIO_R4N
88| 10_2_67/DIFFIO_R4P
89| 10_2_68/DIFFIO_R3N
——=5| 10_2_69/DIFFIO_R3P
70
_71/DIFFIO_R2N
- 10_2_72/DIFFIO_R2P
74| 10_2_73/DIFFIO_RIN
—7&| 10_2_74/DIFFIO_R1P
— _75/DIFFIO_T10N

76/DIFFIO_T10P

10_2_77/DIFFIO_TON

10_2_78/DIFFIO_T9P

SH4 LMK_SDO )

55| 10_2_81/DIFFIO_T8N
_82/DIFFIO_T8P
_83/DIFFIO_T7N
55| 10_2_84/DIFFIO_T7P
56| 10_2_85/DIFFIO_T6N
57| 10_2_86/DIFFIO_T6P
—a8 | _87/DIFFIO_T5N
_88/DIFFIO_TSP
50| 10_2_89/DIFFIO_T4N
51| |0_2_90/DIFFIO_T4P
55| 10_2_91
—oe | _92/DIFFIO_T3N
_95/DIFFIO_T3P
57| 10_2_96/DIFFIO_T2N
58| 10_2_97/DIFFIO_T2P
59 | 10_2_98/DIFFIO_TIN
To0 | 10_2_99/DIFFIO_T1P
———10_2_100

5M80ZT100

VCPLDL8V
VCPLD1.8V
+3.3VCLK SE=
- vecio
c1s5 || 1uF cis2 ||_uF a1 Vcciol
+3.3VCLK VCCIoL
c156 || _1uF c153 ||_uF s
5 vecioz
C162 1uF C154 1uF 94 VCCIO2
I vceioz
c165 1uF = 13
5-{ veonT
c166 || _1uF VCCINT
_ 5M80ZT100
VCPLDL8Y
u3s RI10PRI11 J15  VCPLDL8V
™S 22 1K 10K PROG
23
TO! ™o TCK
TCK
25 TH0
DO Toe
TDI
10_1_43/DEV_OE/DIFFIO_B8P
|0_1_44/DEV_CLRN/DIFFIO_BSN ==
SMB0ZT100 R57
1K

10_1_12/CLKO
14/CLK1
62/CLK2
_64/CLK3

5M80ZT100

% TEXAS INSTRUMENTS

" cPLD

ize Document Number ev
B ADS58J64EVM rA

Date:

Wednesday, March 02, 2016 heet 8 of 10
| 1




P16
5.0V_IN 5VIN 50V vt T;é%
F1 DNI ? Rep TPS7A8101 FB15 AVDDI 9V
114 |_| 3 0"\ _o- TP7 INL  OUTL % J_ _L AN
2 “ GND N2 ouT2 [ c1o7 J_ Clag  1200HM @ 100MHz J_ J_ J_
¢ 3 | FUSE 10A 63V FAST +J‘cm3 J_ C104 Q R4l BLK NR  FBISNS 5 clos T aur (ii(;ﬁ foll?,? 4o o] cuo e cuz | oy
470F 100F > 1k EN GND g e SuF T10uF
= — PAD ™ P8 1ov
Q1 N - = = GND &
CSD18532Q5 = = BLK
TP23 8 —
v O = -
D2 =
'é';’f[;‘ A LED GREEN
PWR
Oo— N
u12 == TP10
- GND
E% N
>%— NC3 GATE +2.5V TP15
u10 RED
TPS2400 TPS7AS101 813 AVDDl 15v
1 N~ 3
: INL - oUTL [5—¢
c126 IN2 - OUT2 [73 J_C127_LC128_L C263 c123 27uF J_ J_ c1z2 J_clgg
TouF NR  FBISNS |7 ciz TLF LF T Tour T 47 F o c130 c131
EN GND 79 ATUF =
SVIN PAD DNI - 10v
T L o~
L1 =
c119 =
47uF c118 -L.c120 3A
Tov 10UF T .1uF @ R112 AT
| DNI 0 us !
16 10 c96
VINL PH1 c124 22UF —T22uF ~T—22uF
== 1 11 TP11
= VIN2 PH2 1UF =
2 12 GND
VIN3 PH3 |75 BLK
15 BOOT =
R114 EN 14 = TP14
0 PWRGD 5VIN = RED
oNI VSNS 6\ cense asis u DRVDD1.15V
, GND1 [ TPS7A8101 FB14 -|—
1 comp GND2 Toon N
N 8l amicik  pwhpAD [ J_ IN2 ! _L°145J_
0 NR .| cra2 Lciaz L 72 %‘éﬁ c147
10uF .
SSITR = v [eav v | 1ev e
R51 TPS54319RTER L o
665k | €136 -
—_|__v01uF —I—:
ciuaa =
3300pF
R124
= 10k
= TP25
GND
BLK
P22
U16 RED = VCPLD1.8V
TPS7A8101 FB17
8 13
NI OUT1L
7
w2 our 2 L cass | oy | co5 - - l _I_C 11 ,
c289 [5|NR FBISNS R18 co87 1uF 100F car9 L cors €280 _| cos2
(4 0 1uF + WF = 1up ==
100F EN GND s iy v = 33uF TL0uF T 40 1uF
PAD |- : ’ - 10V |63V 16v
= = = o
= C286 =
I ATuF
L R181
' {? T I

itle
MAIN POWER
ize Document Number ev
B | ADS58J64EVM rA
- | - | - | > Date: Wednesday, March 02, 2016 hfet 9 of 10




a
<
z

C149
10uF

——

5VIN

+2.5V

ue
TPS7A4700 FB16 - RED +3.3_|V_CLK
1
12 IN1 OUTL [5g T\
IN2 ouT2 121?) c1s1 | cra J.°76 120 OHM @ 100MHz ‘j[us J_css J_c77 J_c7a
du 47uF X 4.7UF OF
31 en sense [ Taev [ T 10v Laar Tlour TP o
14 > = = = [ DNI 10v v
NR 0P1V — o
c98 oP2V =
31| GND 0P4V =
7 PWRPAD 0P8V
— %{nNcC1 1P6V
= IEHne2 3P2V
J>r NC3 6P4V1
i nea 6P4V2 [

+1.4V, 1A

u15
TPS62085

10VDD1.15V

VIN sw

EN  VOS

L4 L3 T
1.0uH 0 OHM
NI J_ c272 _L c273

J_C271 J_ Cc197 J_ C198

FB

[2]
z
o
°
(9]
>l1u [RINEY

DNI DNI

R33 T 150uF
10

R37
80.6K

R32
162K

TP27
10VDD1.15V GND
BLK
TP2
RED
0

u9
TPS74201
IN2 PWRPAD 55
IN3 OuT3
IN4. ouT2
PG ouT1
BIAS NC6 75—
FB/ISNS
[a T
ZZO0w0n
wozzwn —l
T<|
(S

b

C265
— .015uF

R64 _Lcns
2k .

RAT - - -
200

R128
4.99K

BARE BOARD, ADS58J64

MECHANICAL PARTS

MTS

i

STANDOFF, FEMALE, 4-40 X 1 3/16", AL

4

3

o
i~

STANDOFF, FEMALE, 4-40 X 1 3/16", AL

k4

=1

=
N

STANDOFF, FEMALE, 4-40 X 1 3/16", AL
2

z
[ll]—c
-

STANDOFF, FEMALE, 4-40 X 1 3/16", AL
MT3

i

STANDOFF, FEMALE, 4-40 X 1 3/16", AL
T4

k4

i

STANDOFF, FEMALE, 4-40 X 1 3/16", AL

SCREW, 4-40 X 3/4", PHIL, SS

SCREW, 4-40 X 3/4", PHIL, SS

SCREW, 4-40 X 3/4", PHIL, SS

SCREW, 4-40 X 3/4", PHIL, SS

SCREW, 4-40 X 3/4", PHIL, SS

SCREW, 4-40 X 3/4", PHIL, SS

% TEXAS INSTRUMENTS

" POWER 3.3V
ize Document Number ev
B ADS58J64EVM rA

Date: Wednesday, March 02, 2016
I

heet 10 of 10
1




